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QUESTION 1

Based on the command "dump database pubs2 to pubs2.dmp with compression = 6", whichcommands could be used to
load it? (Choose 2)

A. load database pubs2 from"pubs2.dmp" withcompression = 6

B. load database pubs2 from"compress::6::pubs2.dmp" C. load database pubs2 from"pubs2.dmp" withcompression
level 6

C. load database pubs2 from "pubs2.dmp" E. load database pubs2 from "pubs2.dmp" withcompression

Correct Answer: A

QUESTION 2

An expression used in a function based index MUST contain
A. a base column.

B. an aggregate function.

C. a computed column.

D. a search argument.

E. asubquery.

Correct Answer: A

QUESTION 3

Which of the following are true regarding partitions? (Choose2)

A. Tables may be partitioned logically as well as physically

B. Global indexes may be created on each partition.

C. Data in each partition may be processed differently.

D. Global indexes can be clustered ornonclustered on range, hash, or list partitioned tables.
E. Each partition must reside on its own segment.

Correct Answer: AC

QUESTION 4

Which alter table clause will change an APL table to allow row level locking?
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A. lockdatarows
B. lock datapages
C. lock allpages
D. withfillfactor = 1

Correct Answer: A

QUESTION 5

Which of the following utility programs are capable of reverse engineering table definitions? (Choose 2)
A. bep

B. ddigen

C. optdiag

D. srvbuild

E. Sybase Central

Correct Answer: BE
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